N = 0l & At & M A

20229 E0lA =EIAGSESH A
SN ABHE Y
HE: Fe A8 U 29
ol ROIFSAY SHIH Y (FLALSHIN) (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
A=HFH 198,090 150,882 47,208
T AU ¥ 2H 88,594 130,083 A41,489
SQUFEAY SE3H 2L (FHAMLEESA) 88,594 130,083 A 41,489
=0l e 2tg 86,814 128,574 A 41,760
201 L2l 79,854 86,814 A 6,960
01 At 22l 48,062 48,562 A 500
Ogt=&H| 47,102
— 0= ZIMGAH HeasH L IIE
S 4,500, 000& = 10All CH 45,000
—diold Z2lH EU4 237,000 x 1CH 63 1,422
— gl =4&Hl 50,000& »1CH*43] 200
— =SAMEX 20,0003 x22t A %128 480
O= &l 960
- 2oiFessz ol Y BIALR L
SZ2= A 8,000 x2H x5 «12& 960
02 8323l 31,792 38,252 26,460
Oz22= & HA 832
— U SFHEEZ (15MIT)
100, 000& * 14! 100
—ZJHMER ZHES 2N WESE SII=
H= 1,930& 2103l 406
—ZJHMER ZHES 2 WESE SOIE
5= 1,630& 200 326
O=p=e BIMLYR 43 B3
3,000, 000& = 10All CH 30,000
O=32 =8 FIMEX &85 SE2
96,000 =10 Al CH 960
202 Odl 6,960 6,760 200
01 = LH 4 bl 6,960 6,760 200
FEHASEZ FIMEN GRS 2UHAEL
20,0003 *3H +83| x12& 5,760
Oxeiaeag ZIMER §2=a 220l
150,000 »2H »43| 1,200
[ {M=1Rs]! 1,780 1,509 271
801 Gilbl bl 1,780 1,509 271
01 BHoil bl bl 1,780 1,509 271
Oolgl bl 1,780, 000& 14 1,780
HRas(Hsgddn) 109,496 20,799 88,697
HEHHXES(FHANSELS A ) (FHMSELESIH) 109,496 20,799 88,697
HEt2(sSe22I2 WE2) 109,496 20,799 88,697
704 HE S 109,496 20,799 88,697
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CHE - EI(SA) - NRAY - B S 0] &k o4

01 0IE= 109,496 20,799
oue= 109,496,000& 14! 109,496




